| Numericke a presne scitani rad:

> sum(1/ (n™2-1), n=2..infinity);

> sum(x™(-2*n), n=1..infinity);

X -1
> rada: =n->sin(n)/n;
sin(n)
n
[ > body := [seq([i,rada(i)],i=5000..10000)]:
> pl ot (body, style=PA NT, col or=bl ue,
synbol =ci rcl e, synbol si ze=10) ;

rada:=n -
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[ >
> pocet: =10000;

pocet := 10000
> numeri cky: =eval f (sum(rada(i), i=1..pocet));

numericky := 1.070868180
> presne: =sunm(rada(n), n=1l..infinity);

1 sin(1) 1 sin(1)
presne:=_—arctan —— _, |- Cactan| ———
2 l1-cos(1l)/ 2 -1+ cos(1)

[ > eval f (presne);




I 1.070796327
[ > chyba: =eval f (nuneri cky- presne);
chyba := 0.0000718530
>
> pocet: =20000;

1

pocet := 20000
> chyba: =eval f (eval f (sum(rada(i), i=1..pocet))-presne);

chyba :=-0.0000226450

[ >
[ >
[ >
[ >
> Credit:= "1&C, p. 121" ;

Credit :="1&C, p. 121"
[ >



